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F:(X,Y,Z), g:(OaOa_g)a
w = (—wcos\,0,wsin ) (2)
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F=(X,Y,Z) =0,
o = (Oa 0, h)a Vo = (Oa 0, 0) (4)

0000000 3)Uoooooooooo 200
UybO:00000000000000O000O0O0
ooboooboooooboooocoog

1
=h — —gt*
0, =z 2g

1
gwgt3 COS A (5)

]
Il




goo0o+tooooobobbooooooo
1 2(h—2)]*
yzyugcosA[%] (6)

O0o00ob0O0o0 NelOOOOOODOO

oobooooboooobooooboobooOoooboobooo
01mdbd2emO0b0ooooooooboan
uboboobobobobobobaobobooban
oobooooooooooooboboooobooo
oobooooooooboobooobooooobooooo
bboboobobobobobaoboboooban
tbobooooobooboboooooooboan
oobooooobooooooooooooobooo
oobooooooooooooobooooobogooo
gboobooobooboooaoo

100 I I

a0 .

60 .

0 0.01 0.02
yz)

000 Neil 0000 (000000000000 [m])

3 Uooooooano

gobooooboooooboooooooooboobooo
ooooooooooboooobooooooon
oooooobooooooooooooboooooo
ooboooOoobooobOooboOooboOoonn
oooooooooooooooboooooboooo
ooobooobooboooooooooooboooo
oooooobooooooooooooooboobooon
ooboooboooooboooooooooooboobooo
oooooboooooooooooooooboobooo
oooooon
ooooobooovooooooooooooo
000000 wOO w+V/(RcosA\)ODODOODO
oooo00o0o0ooooOobDO0OROOOODOOODO
ooooobooooooooon

2
Rcos /\>
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